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STA201:Grand Quiz

Queshon # 1 of 30 ( Start time: 09:02:59 AM, 25 June 2021 )

For empirical rule approximately all cbservations fall within

Select the correct option
O X+2
O X+tlo
O X + 050
° X +30
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STA301:Grand Quiz

Question # 2 of 30 ( Start time: 09:03:35 AM, 25 June 2021 )

Symbalically. a conditional probability is:
Select the correct option
P(AUE)
@)
PiA)
O
PIAE)
O
F{AB)
®
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A301:Grand Quiz

# 3 of 30 ( Start time: 09:03:50 AM., 25 June 2021)

The range of the scores 29, 3. 143, 27. 59 is:

Select the correct ophion
70
O
146 K
O
140
®
142
O
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Quiz Start Time: 09:02 AM, 25 J

STA201:Grand Quiz

Question # 4 of 30 ( Start ime: 09:04:05 AM. 25 June 2021 ) Tota

One card is drawn at random from a pack of 52 cards. What is the probability that the card drawn is a face card (Jack. Queen and King only)?

Select the correct ophon
3

952
O

74
O

113
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STA301:Grand Quiz

Question # 5 of 30 ( Start time: 09:04:21 AM, 25 June 2021)

According to Empincal rule, approsamately how much values will fall within (Mean-35.0. Mean+35.0)?

Select the correct option

100%
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STA201:Grand Quiz

Queshon # 6 of 30 ( Start time: 09:04:39 AM, 25 June 2021 )

An event that contains more than one sample points is called:

Select the correct option \

Mot mutually exclusive event

O

Mutually exclusive svent

Hyper event

Compound event
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STA3D:Grand Quiz

Question # 7 of 30 ( Start time: 09:04-54 AM. 25 June 2021 )

Wwhich of the following pairs of & and B events are mutually exclusive?

Select the cormect ophon

A the numbers abowve 100;
B: the numbers less than -200

A the numbers less than 5;
B: all negative numbers

A the even numbers;
B: the numbers greater than 10

A the odd numbers:;
B: the number &
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STA201:Grand Quiz

Question # 8 of 30 ( Start time: 09:05:29 AM, 25 June 2021 )

In regression ling Y=a+bX, X is called:

Select the correct ophon

Independent variable

|

Explained variable
Fegressand \
Cependent variable
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STA201:Grand Quiz

Question # 9 of 30 ( Start time: 09:05:45 AM. 25 June 2021 )

The graph of cumulative frequency distribution is called:

Select the cormect ophon
Frequency polygaon
Frequency curve

Historigram

Ogive
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STA201:Grand Quiz

Queshon # 10 of 30 ( Start time: 09:06:00 AM, 25 June 2021)

A graph of plotted points which shows the relationship between two sets of data is known as:

Select the correct option

O

Histogram disgram

Yenn diagram

Paolygon curve

Scatter diagram
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STA201:Grand Quiz

Queshon # 11 of 30 { Start time: 09:06:39 AM, 25 June 2021 )

[f a box contains two red and three vellow balloons then probability of yellow balloons will be equal to:

N
Selc he conetopon \ )

25
O

15
O

415
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STA301:Grand Quiz

Queshon # 12 of 30 ( Start time: 09:06:54 AM, 25 June 2021 )

The postal code of Lahore is 54000, This is an example of:

Select the correct option

Quantitative data

- ()

Continuous data

Qualitative dats \_

Discrete data
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STA301:Grand Quiz

Queshon # 13 of 30 ( Start time: 09:07:10 AM, 25 June 2021 )

A scale in which objects are rank ordered according to how much of the attribute they possess.

Select the correct option

Mominal

O

Intersal

~— |~

Ordinal
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STA301:Grand Quiz

Question # 14 of 30 { Start time: 09:07:28 AM, 25 June 2021 )

Direct personal investigation is

when the area to be covered is vast.

Select the correct option

Localized inquires

O

Inaccurate

Time-consuming

Costly
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STA301:Grand Quiz

Question # 15 of 30 ( Start time: 09:08:11 AM, 25 June 2021)

In absolute measures of dispersion our answer is expressed in the ... units a5 our original data set.

Select the comect option

Unitless
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[N
Different
O
equal \
O
Same




STA201:Grand Quiz

Question # 16 of 30 ( Start ime: 09:08:28 AM, 25 June 2021 )

In 3 linear regression. t=a+bX, the vanable X" will always:

Select the cormect ophon

GQuantitative variable

O

A non-random varable

A random variable

Gualitative variable
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STA3D:Grand Quiz

Question # 17 of 30 ( Start time: 09:08:48 AM. 25 June 2021 )

Uszing the following table, choose the comrect answer;

£ 0 1 2 3
fipy 16 13 13 16

P(1=X=3) equals to:

Select the comrect ophon

56

} ()

475

173
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STA301:Grand Quiz

Question # 18 of 30 ( Start time: 09:09:07 AM, 25 June 2021 )

Forthe given set of observations 1.4,4.4 and 7, it can be said that the:

Select the correct option

mean iz larger than either median or mode

O

Mone of the above

Mean>Meadian>=Mode \

Mean=Mzdian=Mods
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STAID:Grand Quiz

Question # 19 of 30 ( Start time: 09:-:09:22 AM. 25 June 2021 )

The precize numbers which are separated from one class to another class is called

Select the correct option o~

Class Boundanes

Class Mark

Class Limit \

Class Interval
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STA301:Grand Quiz

Question # 20 of 30 ( Start time: 09:09:38 AM. 25 June 2021 )

Sample statistics are also represented as:

Select the correct option

O

Azzociated Roman Alphabets

()

Foman Letters

Upper Casze Gresk Letter

Lower Case Gresk Letter
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STA301:Grand Quiz

Question # 21 of 30 { Start time: 09:09:56 AM, 25 June 2021)

In how many ways.a team of 11 players can be chosen from a total of 16 players?
Select the correct option
5400
2426
%
4368
2620
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STA301:Grand Quiz

# 22 of 30 ( Start time: 09:10:15 AM, 25 June 2021 )

The identity of the observation is lost in the case of:

Select the correct option

Group data

Un-group data

Secondary data \__

Primary data

RIZ MUGHAL (SQA ENGINEER)




STA30N:Grand Quiz

Question # 23 of 30 ( Start time: 09:10-33 AM, 25 June 2021 )

If a die 1= rolled, what is the probability of getting an even number greater than 27

Select the correct option
12

13
L]

22
O

Big
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STA201:Grand Quiz

Question # 24 of 30 ( Start time: 09:10:49 AM, 25 June 2021 )

The stem for the following data is:
22 4536, 1614, 12, 14, 14, 17, 21, 24, 24, 25, 25 26,26, 27. 29, 31, 3435

Select the correct option

1234

1112131415

O

12345 \
O

10.20,20.40,50
O
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STA301:Grand Quiz

Question # 25 of 30 ( Start time: 09:-11:06 AM. 25 June 2021 )

The 1s the value you calculate when you want the anthmetic average:
Select the correct option
Mean

Mode

All sbove \\

Median
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STA3D:Grand Quiz

Question # 26 of 30 ( Start tirme: 09:11:23 AM. 25 June 2021 )

In a cumulative frequency polygon, the cumulative frequency of each class is plotted against

Select the correct ophion

Lower class boundary

O

Upper class boundary

Upper class limit

Mid-point
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STA3D:Grand Quiz

Question # 27 of 30 ( Start time: 09:11:40 AM, 25 June 2021 )

Wwhich of the following Measure of Averages is not based on all the values given in the data set?

Select the cormect ophon
Mode
Median

Arnthmetic Mean

Harmaonic Mean
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STA301:Grand Quiz

Queshon # 28 of 30 ( Start time: 09:11:55 AM, 25 June 2021 )

Empirical relation between mean, median and mode is:

Select the correct option

Mode = 3 median - 2 mean

Median = 2 mean - 3 mode

Mean = 3median - 2 mode

Maode = Zmedian - 3 mean
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Question # 29 of 30 ( Start time: 09:12:10 AM, 25 June 2021 )

[f 3 coin is tossed three times. the likelihood of obtaining three heads in a row is:

Select the correct option
0.875
0125

5 0.000 \

0.500
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STA3D:Grand Quiz

Quiz Start Time: 0

Question # 30 of 30 ( Start time: 09:12:30 AM, 25 June 2021 )

For a symmetnical data set mean value is 150 and standard deviation 25. 99 73 %( approscimately all) values will lie betwesn

Select the cormect ophon —
(125,175}

O

(100.200) &
(75.225) \

(125,180)

Click to Save Answer & Mowv
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